o

1. 56+08 7 Al $3 24 e AL o= AU

® 49+0.7 @ 21+03
@7.8 +1.3 ® 12.6+1.8

@ 14.7+2.1

~&B

56+0.8=56+8="7
D49+07=49=7="7
©®21+03=21+3=7
®147+21=147+21=7
@78+13=78+13=6
®126+18=126+18=7




1Zumstod [ 9]l >, =, <2 GEA HEoA L,

4.68+0.36[ ]3.36+0.24

iy

vV V¥
0x
it
A

4.68 + 0.36 = 468 ~ 36 = 13
3.36+0.24=336+24=14
— 4.68 +0.36 < 3.36 + 0.24




& % 4473 +0.18 I} 5o 2 A2 ol AYY7R?

@® 44.73+18 @447.3 + 18 ® 4473 +18

@ 0.4473 + 18 ® 44730 + 18

250 WAl A UrofRE ot Uire 0] A3 S e
ZHe] UE 27| H 52 Z5Uth 4473 £ 0.18 = 447.3 + 18

olRE g2 @YY




259 JAS B4 Yeor nA Aarets B¢
FE 2 dE P oA

O I I ST D
26171.16—1—007m—D7116—D

o

vV V VvV v v Yy
02
n

=F 26100
D 26100
HMEFD 225
261 11
261+1.16 = 26100 2 16 _ 26100+116 = 225

100 100




HE 1S Z&st=d Zo.72m 7 293Ut E 35.28mE A&
9 e TS 5 A5U7

® 4 @A @sH @uh  ©s0H

35.28 = 0.72 = 3528 = 72 = 49(7)




= AU

216 O],
16482316 = S+ £=5 =[0®]+[®]=[®]
D 1643.2 @ 316 ® 1643.2

@ 316 (@)52

~&B

A T2 £ BR7E100 9 B2 Yebdyoh
1643.2 316

16432+ 3.16 = —— + =— = 1643.2 + 316 = 5.2

6432+ 3.16 = — == + S0 = 1643

kA @ 52 &= 5.27F Hojof gt




® 60+2.5 @ 48+1.5 ® 8.64+0.48

@ 144 +9.6 ® 26+3.25

D 60 +2.5=600=+25=24
@ 48+15=48+15=32
3 8.64 +0.48 = 864 - 48 = 18
@ 144 + 9.6 = 1440 ~ 96 = 15
® 26 + 3.25 = 2600 ~ 325 = 8




130kg o] Y7FRE §F AFF 9 3.25kg
2= 2 A7

> = M

> =e 4070

A oF o

= o|a =

23l

)

e,

iz}

ot

130 + 3.25 = 13000 + 325 = 40(7H)




7.1+4959] 2 A%
=

A ¥ 2pa] o] At
» £
> Hg: o3

~&B

7.1+4.95 =1.4343..- 0|8 A5 o] £A= 4, 30] HE

olgyth. webA 44@ ofef &4 A A A9 = 40|10
A A A 242 9] = 3P YTk whehA] A53] ofef 100 A tﬂ
2] o] S=2H= 3 %Mt’r.




10. S¥lo] okslAR T} 2.7emE A7, %017k 8.6em ¢l ArtelEe] Yol
7hTLAG cm? 2 o, 1813} ok o] Lol LR 5t @

>

i
E

>
[> HEH 21.2cm
>

HE D 185cm

obge] ol : [
Qo gol 1 [ |4 27
(J+27+[ hx36:2=7146

ole] Lol TR Tha Tt T4
[ ]=(7146x2+36-27)+2=185

o

siRio] Aol Fol ™ thadt A5Yr
SIH=18.5 + 2.7 = 21.2(cm)

o




